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Bl F ¢ 65 200 - 0.10 m 1.90 62.7
FHIRM A SD345 @mRH-ET HBENSHE 1ARxLY
ER D19%2000 HDZ55 m 2.0 66.0
B0
2.25kg/m * 200 kg 4.50 149
$S400 WmnH-ET BERSHE B0
AEE 150%150%9 HDZ55 o 1 33
SEERER & WmnH-ET BERSH B0
B@E+ v b D19F8 HDZ35 & 1 33
BERSER IE=10)
AR—H— & 2 66
HIFLE IEN=10)
SEAD 39 0 28=24N/mm2 ./ 4 * 0.065 * 0.065 1.90 m3 | 0.00630 0.208




FCBE&® BHEATL B E B ¥ &
Hfryy
G | S -l K =-Riv] £ B = 5 =
BHEATL D19%2500 BER&Y N 55
WSEHT RIL FR-EEERO. 1m R4y
Bl F ¢ 65 250 - 0.10 m 2.40 132.0
FHIRM A SD345 @mRH-ET HBENSHE 1ARxLY
ER D19%2500 HDZ55 m 2.5 137.5
B0
2.25kg/m * 250 kg 5.63 310
$S400 WmnH-ET BERSHE B0
AEE 150%150%9 HDZ55 o 1 55
SEERER & WmnH-ET BERSH B0
B@E+ v b D19F8 HDZ35 & 1 55
BERSER IE=10)
AR—H— & 2 110
HIFLE IEN=10)
SEAD 39 0 28=24N/mm2 ./ 4 * 0.065 * 0.065 2. 40 m3 | 0.00796 0.438




FCBE&® BHEATL B E B ¥ &
Hfryy
G | S -l K =-Riv] £ B = 5 =
BHEATL D19%3000 BER&Y N 49
WSEHT RIL FR-EEERO. 1m R4y
Bl F ¢ 65 300 - 0.10 m 2.90 142.1
FHIRM A SD345 @mRH-ET HBENSHE 1ARxLY
ER D19%3000 HDZ55 m 3.0 147.0
B0
2.25kg/m *  3.00 kg 6.75 331
$S400 WmnH-ET BERSHE B0
AEE 150%150%9 HDZ55 o 1 49
SEERER & WmnH-ET BERSH B0
B@E+ v b D19F8 HDZ35 & 1 49
BERSER IE=10)
AR—H— & 2 98
HIFLE IEN=10)
SEAD 39 0 28=24N/mm2 ./ 4 * 0.065 * 0.065 2.90 m3 | 0.00962 0.471




FCBE&® BHEATL B E B ¥ &
Hfryy
G | S -l K =-Riv] £ B = 5 =
BHEATL D19%3500 BER&Y N 45
WSEHT RIL FR-EEERO. 1m R4y
Bl F ¢ 65 3.50 - 0.10 m 3.40 153.0
FHIRM A SD345 @mRH-ET HBENSHE 1ARxLY
ER D19%3500 HDZ55 m 3.5 157.5
B0
2.25kg/m *  3.50 kg 7.88 355
$S400 WmnH-ET BERSHE B0
AEE 150%150%9 HDZ55 o 1 45
SEERER & WmnH-ET BERSH B0
B@E+ v b D19F8 HDZ35 & 1 45
BERSER IE=10)
AR—H— & 2 90
HIFLE IEN=10)
SEAD 39 0 28=24N/mm2 ./ 4 * 0.065 * 0.065 3.40 m3 | 0.01128 0.508




FCBE&® BHEATL B E B ¥ &
Hfryy
G | S -l K =-Riv] £ B = 5 =
BHEATL D19%4000 BER&Y N 17
WSEHT RIL FR-EEERO. 1m R4y
Bl F ¢ 65 4.00 - 0.10 m 3.90 66.3
FHIRM A SD345 @mRH-ET HBENSHE 1ARxLY
ER D19%4000 HDZ55 m 4.0 68.0
B0
2.25kg/m * 400 kg 9.00 153
$S400 WmnH-ET BERSHE B0
AEE 150%150%9 HDZ55 o 1 17
SEERER & WmnH-ET BERSH B0
B@E+ v b D19F8 HDZ35 & 1 17
BERSER IE=10)
AR—H— & 2 34
HIFLE IEN=10)
SEAD 39 0 28=24N/mm2 ./ 4 * 0.065 * 0.065 3.90 m3 | 0.01294 0.220




FCBE @

BHEAT # E i B &
B35 T

A = (35 BE| BT O | FHME| 7 I8 i = i H | FHME| 1 18 i1

NO. 67 1.9

NO. 68 20. 36 5.1 6. 80 138.4

NO. 69 20. 36 1.1 6. /0 136. 4

NO. 70 20. 36 1.9 1.80 158.8
NO. 70+17. 7| 18.03 1.9 1.90 142. 4

g 79. 1 576.0 0.0 0.0




S - g (M
BEEMERILY Y —
REEE
75.19 X 0.30 x 0.70 = 15.79 @)
& B &B (H=0. 60m)
0. 252 x 14 i = 3.53 m%)
& B &B (H=0. 30m)
0.110 X 9 vl = 0.99 m
20. 31 m%)
BEEmMEFEa VY- BB
REEE
75.19 X 2 x 0. 30 = 45.11 ()
B ER &R (H=0. 60m)
1.140 x 14 Vil = 15.96 (m)
B ER &R (H=0. 30m)
0.525 X 9 Vil = 473  (md)
65. 80 (m?)
BEmMBEEIL Y ) — FEEM
75.19 X 0. 90 = 67.67  (m®)
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2 B I #F ®E F @

i1 # = et avoy—+t T s E% B

1Y

LrSa ean | I
el gt
Ll g et
¥ ™
zegl )| = 300150
= 50
09300
H=0. 60 H=0. 30m
B R HEHH B e
H=0. 60m
avhy—+k 0 =18N/m’ | 0.300x0. 600 x0. 700+ ((0. 300+0. 900) /2x0.300) x 0. 700 ) 0. 252
B 0. 600 x 0. 700+ (0. 300 x 0. 600+ (0. 300+0. 900) /2 x 0. 300) X 2 ) 1.140
H=0. 30m
avhy—+k o =18N/m’ | 0.300x0.300 0. 700+ ((0. 300+0. 600) /2x 0. 150) x 0. 700 (m3) 0.110
R 0. 300 x 0. 700+ (0. 300 x 0. 300+ (0. 300+0. 600) /2 x 0. 150) x 2 (m2) 0.525
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m B B K I F g F 0

1. BEERBEKE (FFLE ¢150)

EERS | AT TR
(m) (m) AAEKERSER
0. 300 9 2.70 B = 80.74 (m)
0. 600 14 8.40
FAEEERSER
H = 11.10 (m)
AHERIER
23] 11.10 L= 80.74  + 11.10
2. 7 4 L3 —#£(S-30)
AHET H150mEFERT =6, EOFBEIEE
W E R a= 0.075 X 0.075 X T =
EREOEEIBEREL0. 218(m) THEM D, BEHKENEHRE LRAEOUHEREZ
B EE A= 0.218 - 0.018 = 0.200 (m?)
BHLEOERN 91.84 M THDHDT.
ZN V= 0. 200 x 91.84 = 18.37 (m®
0 tH 7 L 44 A= (0.45 X 2 + 0.35)
- KTERSER _
ol
up{
il
H

FEERHEKE

= 91.84
0.018 (m)
x 91.84

(m)

620

114.8 )

350

- 450

15




=z HE 7K - £ 2
HHE (BILE 0150) (EETAMR)
p:l = & 4 EE
(m) (m)

No. 65+8 0. 000 0
No. 66 0. 000 o o0.00
No. 67 3. 861 o o0.00
No. 68 3.840 1 3. 84
No. 69 5. 634 1 563
No. 70 5. 114 1 5. 11
No. 70+17. 70 8.243 1 8.24 -

&ttt 4 22 82

16




)T HF R 8

[T mm | 100x50x20 || B=® | 32 | TEfGZE] Ke/m | 550 |
EBERES &S EFs ke BEES ES | Esk||BEES| ES FE kg
1 57 1.30 715 113 1.30 715
2 58 1.30 715 114 1.30 715
3 59 1.30 715 115 1.30 715
4 60 1.30 715 116 1.30 715
5 61 1.90 10.45 117 1.30 715
6 62 1.30 715 118 1.30 715
7 63 1.30 715 119 1.30 715
8 64 1.90 10.45 120 1.30 715
9 65 1.30 715 121 1.30 715
10 66 1.30 715 122 1.30 715
11 67 1.30 715 123 1.30 715
12 68 1.30 715 124 1.30 715
13 69 1.30 715 125 1.30 715
14 70 1.30 715 126 1.30 715
15 71 1.30 7.15 &t 660
16 72 1.90 10.45
17 73 1.30 715
18 74 1.30 715
19 75 1.60 88
20 76 1.30 715
21 77 1.30 715
22 78 1.30 715
23 79 1.30 715
24 80 1.30 715
25 81 1.30 715
26 82 1.30 715
27 83 1.30 715
28 84 1.30 715
29 85 1.30 715
30 86 1.30 715
31 87 1.60 88
32 88 1.30 715
33 89 1.30 715
34 90 1.30 715
35 91 1.30 715
36 92 1.30 715
37 1.300 715 93 1.30 715
38 1.300 715 94 1.30 715
39 1.300 715 95 1.60 88
40 1.300 715 96 1.30 715
41 1.300 715 97 1.30 715
42 1.300 715 98 1.30 715
43 1.300 715 99 1.30 715
44 1.300 715 100 1.30 715
45 1.300 715 101 1.30 715
46 1.300 715 102 1.30 715
47 1.300 715 103 1.60 88
48 1.300 715 104 1.30 715
49 1.300 715 105 1.30 715
50 1.300 715 106 1.30 715
51 1.300 715 107 1.30 715
52 1.300 715 108 1.30 715
53 1.300 715 109 1.30 715
54 1.300 715 110 1.30 715
55 1.300 715 111 1.30 715
56 1.300 715 112 1.30 715




ITHEHEE (TERER)

e ) N 72 10 S N N3/ S o P
SN TR T e o M G [T e e O N G
KKNo. 0 0.0
KKNo. 1 20. 000 8.5 4.25 85.0
KKNo. 2 20. 000 23.1 15.80 316. 0
KKNo. 3 20. 000 39.3] 31.20 624. 0
KKNo.3 + 9.150] 9.150 0.0/ 19.65 179.8
No.69 - 2.000 5.8
No. 69 2. 000 5.8 5.80 11.6
No. 70 20. 000 2. 90 58.0
m3 m3
) m
i 91. 15 69. 6 1,204.8




T (THHER)

)1 (m3) (m3) (m3)

HHEEE | 8 [ AR | L& | & EE A B | EE
Bl
NS | EAp 1338. 7 1204. 8 FEARRE 1 4, 0=W 1204. 8

370. 0 370. 0 KA+ 5 T 370. 0
FEIA A2
T4 1708. 7

VYE 1 0. 90

W 1 1.15

a1 1. 20




BIER L=77. Tm

IEHRAERTFEEN

$=1:500

REWER  S=1:100

7

FHET F AEE
4000

ITERERSZH

IHEH

RaEt BHENGR £ BRAR BBRRRIF(O)
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THER

SEEERKEELLAR (F55H)
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& # 4

FRESL

RBERMMLERED REBMS <XK>




XBIOSBREEY KEEDS N=2x (1 X6+2x 6+3X 7+4 X 6+5x 7+6 X 11+5 X 2+4 x 143 x 1+2 x 141 x2) = 370{8

SR 3B 1B
XETOSHEEN 18 1=6000 28 L=6000 36 L=7000 4B L=6000 56 L=7000 66 L=11000 :zuo% L=10)
L

1:200
DL -10.00

a

15.00

41,234
—+6.39+
+1.58+

—6.270

B EE R

=R BE B

+9. 24419 244—-0.000 6. 612 1-6. 612 —

+15. 0 1-15. 006+ 15. 0064-5. 670 1-8.40 —

KKNo. 1--5. 000 —+20. 006+-6. 650 7. 917
KKNo. 2—-20. 006+40. 006-6. 650 —10. 917
KKNo. 3——20. 006+60. 006+7. 520 —13. 917+

+1.22 4 1.226167. 2264-13. 3251-14. 906

+10. 00+-10. 006+70. 006-15. 580+-15. 00 — 0. 58 4~

KNo. 3 —+-0. 000+
KKNo. 0

CERERZZEN

IHEH

RERE BAMENBER £ - BH UBHARIFH(S)

BHRE%

(X) BAENTR

THRE

SEEERKEELLAR (F55H)

BE A

IFHERRNE (SER)

# R

1/500 ‘ EEFS 2/ 4

RBERMMLERED REBMS <XK>




D

B

"

2 5a5B<4. 00

[T

T GH= 7.520
FH=13.917

GH= 6. 650
FH= 7.917

TP=0.000 TP=5.000

%

2 5a5B<4 0n

[T

KKNo. 3

[

IICE

B &

B

Kagm

t B

" %

2 5n<8<4.0n

4 0nss

2 50
FH= 6.612 FH=10.917
HETHAE
3000

BEBRT HAEH 5000

KKNo. 2

[

IICE

B

Fasm

2 5ns8<4 0n

4 0nss

5

TP=0.000 TP=0.000

CERERZZEN

IHEH

RZgt BIENER K- B

BHRE%

(X) BAENTR

THRE

SEEERKEELLAR (F55H)

BE A

T TRAE (ZD1)

# R

1:100 ‘ BEHES

RBERMMLERED REBMS <XK>




NO. 69
[EEE e u &
t B 56
& w | Aomm
w
2 5ns8<4 0n
&t | mEm:
4 ons8 0.0

[ JommteasgIs+oicTiE

900

27227
NANRRA

NO. 69
GH=21.769

FH=22.910

T TR (£D2)

NO. 70
[(ERE] wEE % [
B 0.0
®w | Aumw
o

2.5058<4 0n

@t | mEE:
4 0nsb 0.0

TP=5.000
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[ JommtersgIstoiccit
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Ej(

ITERERSZH

=7y
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I %% |RE: BHENGR £H - BHAR EBARTIFEG)
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